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Q.P. Code : 13101

(3 Hours) [ Total Marks : 100
NB.:s (1) All Questions are compulsory.
(2) Write case laws wherever neccessary.
(3) Figures to right indicate full marks

1. Answer in 2-3 sentences each : 20
(a) Explain the term patent
(b) What is a musical work
(c) Who can apply for registration of a design?
(d) Defire invention.
(e) What is a Patent of addition.
(f) Explain the term ‘Indication’

(g) Explain the term ‘ariicie’
(h) Who is a performer? . Q
(i) What is reprography : \ :

(I) Explain the term ‘mark’. : E e,

2. Write short notes on (any four) : 20

(a) Commercial Rental @ o
- (b) Copyright societies & :

(c¢) Fair dealing
(d) Provisional specification O :
(e) Object of patent law ;
(f) Qualities of a good trade mar -

3. Solve any two of the foll 'Qﬂmiuﬂa} problems. 12

(a) Mr. X applies for gegistration of a design “Hexagon” to be applied to goods.
(i)  Will Mr. XNsucceed to get'the “Design™ “Hexagon” registered under the
Design act 2000
(ii)  Explain the provision of law applicable.

(b) The author Mr. X relinquishes all his copyright in the poem ‘The Moon’
to the registrar of ccpyrights.
(1)  Isthe relinguishment valid, explain with provision of law?
(ii)  What will be the effect of the relinquishment on the rights in the work
subsisting in favour of any person?

(¢) Mr. A jiivents a radioactive substance and applies for a patent for the same.

(i) Will Mr. A succeed to get a patent?
(1)  State and explain the provision of law applicable
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4. Answer any four of the following : 48
a) Discuss the main forms of Intellectual property rights.
b) Discuss "Marks", which cannot be registered.

¢) Discuss the characteristics which an invention must have to be entitled for a
patent.

d) Explain the prohibition on registration of certain indications as geographical
indication.

e) Copyright is a bundle of right. Explain

£)  what is passing off? Discuss with case law.
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